JET International Journal of Emerging Technologies in Learning

iJET | elSSN: 1863-0383 | Vol. 18 No. 15 (2023) | OPEN ACCESS

https://doi.org/10.3991/ijet.v18i15.40665

PAPER

The Effect of Group Size on Students' Cognitive and Behavioral Engagement

Laaziz Youssef¹(🖂), Ghizlane Chemsi², Mohamed Radid¹

¹Laboratory of Physical Chemistry of Materials, Faculty of Sciences Ben M'Sick, Hassan II University, Casablanca, Morocco

²Laboratory of Sciences and Technologies of Information and Education, Faculty of Sciences Ben M'Sick, Hassan II University of Casablanca, Casablanca, Morocco

youssef.laaziz-etu@etu. univh2c.ma

ABSTRACT

The size of the group is an important subject to discuss, especially in light of the challenges that appear with the trend toward large institutions with large student bodies in higher education, including the quality of student integration and the quality requirements that higher education must meet in light of the high qualifications demanded by the world of employment. In this study, we examine the effect of learning-group size on students' cognitive and behavioral engagement. In a quantitative approach, a questionnaire survey is used to collect data from 234 students at the Hassan II University in Casablanca. The purpose of this research is to demonstrate the influence of group size on students' cognitive and behavioral engagement. The participants were separated into 140 students in large groups and 94 small groups. A questionnaire measured the impact of group size on participants' cognitive and behavioral engagement and had a Cronbach's alpha value of 0.9. According to the study's findings, group size should be taken into account because it affects most factors related to cognitive and behavioral engagement. To increase student involvement and boost their academic achievement, it is advised that more empirical research should be done in order to develop pedagogical strategies to control this difference much better.

KEYWORDS

behavioral engagement, cognitive engagement, Moroccan universities, group size

1 INTRODUCTION

During the last decade, large-group teaching has become a reality in all Moroccan universities, due to a lack of teachers on the one hand and the explosion of student numbers within the university on the other hand. According to statistics from the Ministry of National Education and Vocational Training and Higher Education and Scientific Research, the number of new students enrolled at Moroccan universities increased from 157,677 students in 2011/2012 to 257,782 students in the 2019/2020 academic year. As a result, small-group teaching has become something of a fantasy nowadays.

Youssef, L., Chemsi, G., Radid, M. (2023). The Effect of Group Size on Students' Cognitive and Behavioral Engagement. *International Journal of Emerging Technologies in Learning (iJET)*, 18(15), pp. 133–147. https://doi.org/10.3991/ijet.v18i15.40665

Article submitted 2023-04-18. Resubmitted 2023-05-25. Final acceptance 2023-05-26. Final version published as submitted by the authors.

© 2023 by the authors of this article. Published under CC-BY.

As a result, more research has addressed the notion of large groups, making it an important topic for discussion and study because of its impact not only on student engagement but also on teachers' teaching practices.

We identify the difficulties associated with teaching large groups and formulate the research problem that emerges. The concepts of *large group, cognitive engagement* and *behavioral engagement* are then defined, before identifying the research objectives. The methodology is presented, followed by an overview of the results and then the interpretations. In conclusion, we identify some suggestions and proposals to alleviate and overcome the problems produced in largegroup teaching.

2 PROBLEM STATEMENT

In Morocco, as in many countries, teaching in large groups is still a widespread reality in universities, which are undergoing radical changes in their educational system. The educational system in Moroccan faculties is changing from teaching that transposes simple knowledge to that centered on a student acquiring skills and know-how; in other words, teaching that aims to involve students in the construction of their knowledge and the development of their skills. The Faculty of Sciences Ben M'Sick is also confronted with this situation of large numbers of students, or "massification," in their amphitheaters and heterogeneity of students who have neither the same background nor the same knowledge. However, the faculty has to be able to manage these large classes well and ensure that students are engaged and involved in the teaching-learning process. Most importantly, to be actively involved, students need to engage in such higher-order thinking tasks as analysis, synthesis, and evaluation [1]. But to what extent is large-group teaching an influential factor in learning, making the student passive and only superficially engaged in the construction of knowledge? What is the influence of class size on the cognitive and behavioral engagement of students of the Faculty of Sciences Ben M'Sick (FSBM)?

3 CONCEPTUAL FRAMEWORK

The first part of our study is the definition of a large group at the graduate level in order to present the main theme of our research [2]. In the second part, we discuss the definition of students' cognitive engagement and then behavioral engagement.

3.1 Definition of large groups in higher education

The growth in student numbers over the last ten to fifteen years in some countries has been a challenge for university teachers. This growth is offset by the emergence of so-called large-group classes, but is the large-group question only a question of numbers?

The definition of *large group* varies from one author to another and is based on two approaches: qualitative and quantitative.

From a quantitative approach, Anzieu [3] defined a large group according to its size and noted that from 25 to 50 people is a large group and that beyond 50 people is an assembly. In addition, Ève-Marie Lavoie and Nicole Monney [4] cited two examples of what a large group is in their article entitled "Guide for large group teaching.": the definition of De Paoli [5], who considers a large class to be 130 students, and Mulryan-Kyne [6], who considers a large group to be between 300 and 1000 students.

From a qualitative perspective, the notion of the large group is defined by several authors, including Dah [48], who consider that the number of students can be an obstacle to communication and interaction between the teacher and the student in a teaching-learning situation, and according to Bernatchez and Weiss-Lambrou [7] there are other variables. Besides the number of students, factors that need to be taken into account for a group to be considered large include the age of the students, their level of education, and the teaching conditions. Baker and Westrup [8] state that the number of students alone cannot determine whether class is large; more relevant is if the teacher finds that there are too many students for them all to progress [8].

According to Biggs [9], it is laborious to specify exactly what a large group is in the teaching context [6]. Therefore, the definition of the large group remains very subjective and even relative, as it depends on a plurality of related factors [10], so it is important to discuss the different parameters and not to choose only one or simply count the number of students present in the classroom or lecture hall [11].

In conclusion, the notion of a large group class is not a purely quantitative issue. However, it depends on several variables such as the teaching context, the perception of teachers, the age of the students and their learning and progression rates. A group may be considered large when the teacher has to modify his/her usual teaching method because of the total number of students [2]. Thus, in this article, we consider a large group to be a considerable number of students learning in the same classroom or lecture hall.

3.2 School engagement

Student engagement is one of the most talked about topics in education. It is the subject of several research and study projects. Indeed, it is widely known as a powerful influence on learning and success in university education. According to Bédard [12], commitment is the ability to invest time and effort over the duration of the training program, while Parent [13] defines engagement as the initiation of action and active participation. Connell and James [14] consider engagement to be understood as the initiation of action, the amount, of effort and the quality of consistency when faced with academic tasks.

Behavioral versus cognitive engagement. Many researchers have tried to define three dimensions of school engagement: behavioral, cognitive, and affective [14]–[17]. In this article, we limit our discussion to the behavioral and cognitive aspects of school engagement.

As an example, Gerard and Rubio [18] reported that Prégent [19] consider engagement along two dimensions—cognitive engagement and behavioral engagement by linking it to student conduct, such as perseverance, class participation, punctuality, and involvement in learning situations. Cognitive engagement is the intellectual work put into learning by the student [20]–[22] and is shown by concentration, attention, and learning strategies [18].

Cognitive engagement is a topic of concern to many teachers and stakeholders in the Moroccan educational field, and it represents a daily challenge for the teachers of the Ben M'Sick faculty, who constantly search to develop ways to cognitively and behaviorally engage their students in learning, especially as there are studies that show that in higher education the culture of disengagement is very abundant among students and a significant proportion show academic disengagement [23], [24]. Other research shows that students' study behaviors have a real impact on their learning [25].

3.3 Cognitive engagement

According to Greene and Miller [26], cognitive engagement is defined from two angles of information processing, called *surface* or *deep*. Students' cognitive engagement in surface learning is the intentional use of basic cognitive actions, such as rote learning and mechanical repetition without understanding the content to be learned [27] or mastering the material [28]. For deep learning, it is determined by the use of complex cognitive functions [29].

Cognitive engagement is the decision to engage in lessons, the intensity of that engagement, and the persistence in the task [30], It is the student's responsibility for the success of his studies, his personal investment, and the effort he puts into his work [31]. Cognitive engagement is the initiation of action, the amount of effort, and the quality of persistence in the face of academic tasks.

Strategies for cognitive engagement. A number of studies have addressed cognitive engagement from different dimensions and are concerned with self-regulated or strategic learning, as cognitive engagement addresses not only the effort the student puts into tasks or work but also the importance of the student's ability to use cognitive and metacognitive strategies to learn effectively [32].

Pintrich and Schrauben [33] have shown that cognitive engagement consists of the knowledge of learning strategies and the use of self-regulation strategies. They also showed that the adoption of these strategies can be influenced by the controllability of a task, the student's perceptions of their competence, and the value of an activity [31].

According to Corno and Mandinach [34], cognitive engagement refers to the quantity and quality of effort put into learning by the student. They distinguish four types of strategies or forms of engagement: metacognitive strategies, strategies for managing resources in a learning situation, strategies for acquiring knowledge (cognitive), and strategies for performing tasks. Cognitive engagement is the knowledge and use of these strategies in different learning situations, the decision to engage, the intensity of that engagement and the persistence in the task, and the use of learning strategies.

3.4 Behavioral engagement

Behavioral engagement has been the subject of several academic studies and research. According to Heilporn et al. [35], The behavioral dimension of student engagement refers to their participation in activities as well as following rules or norms. It is their degree of concentration and attention in class, perseverance, contribution to discussions, and asking questions that determine their behavioral engagement. It also refers to observable signs of engagement and is associated with the amount of visible effort involvement.

According to Parent [13], behavioral engagement is also called "socio-relational engagement" and is recognized in a student by the fact that he or she asks questions of both teacher and colleagues. He/she will tend to be proactive, explaining course material to other students and seeking feedback on his/her academic activities from teachers, peers, or those outside the classroom.

The dimension of behavioral engagement is expressed mainly through three axes: disciplinary conduct, involvement in tasks and learning, and participation in school activities [36]. It refers to the observable way in which students act in the school environment [37].

Based on the definitions presented above, we define school engagement as a voluntary choice of active and intensive engagement, but also as active participation in school and extracurricular learning activities. School engagement is a multifaceted process.

4 RESEARCH OBJECTIVES AND HYPOTHESES

Our research is related with studies that attempt to identify factors that influence students' cognitive and behavioral engagement in higher education.

Previous work has identified a number of factors that can influence student academic engagement, with the daily input of teachers to students having a significant impact on academic progress [38]. A study supporting teacher-student relationships conducted by [11] claimed that among adolescents, warm relationships with teachers would act as a protective factor on motivation and academic performance. Therefore, teachers surely have an important influence on students' academic engagement.

Other studies have shown that the school environment can influence students' academic engagement and affect their quality of school life. A negative educational climate and lack of leadership from the principal can be detrimental to student success and engagement [11], [39], whereas a healthy school environment can promote student engagement and perseverance [40].

Our present research attempts to conduct a comparative analysis of the influence of class size on student academic engagement at Ben M'Sick faculty. We seek to compare the learning adherence of undergraduate students who study in lecture halls (large group classes) with their Master's peers, who study in classes of smaller size; in other words, we seek to highlight the relationship between class size and student academic engagement based on the cognitive and behavioral dimensions of the latter.

The influence of class size on school performance, achievement, and engagement has been the subject of a considerable amount of academic research and study. Drawing on some of this research, we hypothesize the following:

- H1: Group size influences the behavioral engagement of higher-education students.
- H2: Group size influences the cognitive engagement of higher-education students.

5 METHODS

5.1 Sampling

Our sample consisted of 234 students from the Faculty of Science at Ben M'Sick, divided into 94 students enrolled in the first and second year of the master's program and 140 students enrolled in the bachelor's program in the branches of physics, math, and chemistry.

5.2 Data-collection system

The research design includes a written questionnaire administered to students of the Faculty of Science in Ben M'Sick.

We opted for a quantitative approach, which consisted of collecting a lot of factual information. The questionnaire allowed us to interview a larger number of individuals, this method also allowed for the collection of data from several sources. Out of 280 questionnaires distributed, only 234 students responded to our survey.

We were inspired by known commitment scales, such as that of Parent [41] used in his doctoral thesis. He developed his own student-engagement scale in behavioral, emotional, and cognitive dimensions, and the scale of student engagement in higher education [42]. We developed a new student-engagement questionnaire based on different scales reported in the scientific literature. Our questionnaire consists of 29 items, including 28 Likert items ranging from 1 (always) to 5 (never) and one item in the form of a closed question (check box) that presents the independent variable of our search (large group or small group). These items are divided into two distinct sub-scales: "cognitive engagement" and "behavioral engagement."

The first subscale of our questionnaire consists of 17 items for the measurement of cognitive engagement of students, while the second is made up of 11 items for the measurement of cognitive engagement in general. All these items were measured in relation to the size of the class—large group or small group—in order to verify the influence of group size on these two types of engagement: cognitive and behavioral.

The measure of internal consistency between the items in the first part of our questionnaire shows that there is a strong association between them, as well as the items in the second part, with good internal consistency indices (Cronbach's α of 0.899 and 0.922, respectively, for items that measure cognitive engagement and those that measure behavioral engagement) (Table 1).

Variables	Cronbach's Alpha	Cronbach's Alpha Based on Standardized Items	Number of Items		
Cognitive engagement	.899	.904	17		
Behavioral engagement	.922	.922	11		

Table 1. Reliability statistics

6 **RESULTS**

We used the Mann-Whitney U test to answer the research hypotheses. Table 2 shows how group size influences cognitive engagement, while Table 3 shows how it influences behavioral engagement.

Items	Size of Group	N	Mean Rank	Sum of Ranks	Mann-Whitney U	Р
I wonder if my methods are effective	large group	140	132.64	18,569.00	4461.00	0.000
	small group	94	94.96	8926.00		
	Total	234				
I ask myself if my academic results match my	large group	140	128.33	17,966.50	5063.500	0.002
expectations	small group	94	101.37	9528.50		
	Total	234				
I ask myself what causes my successes and failures	large group	140	137.04	19,185.50	3844.500	0.00
	small group	94	88.40	8309.50		
	Total	234				
I ask myself if I have achieved the goals I set	large group	140	142.59	19,963.00	3067.000	0.00
	small group	94	80.13	7532.00		
	Total	234				
When I finish an assignment, I check my mistakes	large group	140	129.72	18,161.00	4869.000	0.001
	small group	94	99.30	9334.00		
	Total	234				
I ask myself if I am up to date with my work and studies	large group	140	136.18	19,064.50	3965.500	0.00
	small group	94	89.69	8430.50		
	Total	234				
I make sure I understand what I am studying	large group	140	144.85	20,279.00	2751.00	0.00
	small group	94	76.77	7216.00		
	Total	234				
I try to define a strategy before I start my	large group	140	138.89	19,444.00	3586.00	0.00
homework or study	small group	94	85.65	8051.00		
	Total	234				
I am committed to the tasks in my lessons	large group	140	136.69	19,136.00	3894.00	0.00
	small group	94	88.93	8359.00		
	Total	234				
I mentally organise different information from	large group	140	145.21	20,329.00	2701.00	0.00
the course in an order that makes sense to me	small group	94	76.23	7166.00		
	Total	234				
I mentally connect the new knowledge I am	large group	140	141.28	19,778.50	3251.500	0.00
learning with the knowledge I already have	small group	94	82.09	7716.50		
	Total	234				

Table 2. Cognitive engagement test

(Continued)

Items	Size of Group	N	Mean Rank	Sum of Ranks	Mann-Whitney U	Р
If I have difficulty with an assignment, I persevere	large group	140	132.59	18,562.50	4467.500	0.00
until I understand it	small group	94	95.03	8932.50		
	Total	234				
I learn certain rules by heart by repeating them several times	large group	140	136.48	19,106.50	3923.500	0.00
	small group	94	89.24	8388.50		
	Total	234				
I spend more time on lessons and homework	large group	140	132.09	18,492.50	4537.500	0.00
	small group	94	95.77	9002.50		
	Total	234				
I am so involved in my lessons that I forget everything else around me	large group	140	137.67	19,273.50	3756.500	0.00
	small group	94	87.46	8221.50		
	Total	234				
I want to learn as much as I can in class	large group	140	130.87	18,322.00	4708.000	0.00
	small group	94	97.59	9173.00		
	Total	234				
When I am in class, I only pretend to work	large group	140	92.38	12,933.50	3063.500	0.00
	small group	94	154.91	14561.50		
	Total	234				

Table 2. Cognitive engagement test (Continued)

The influence of group size on cognitive engagement was tested using the Mann-Whitney U Test. Based on the findings presented in Table 1, the size of the group had a considerable influence on cognitive engagement where it relates to the following items: I wonder if my methods are effective [Mann-Whitney U=4461.00; P=0.000<0.05], I ask myself if my academic results match my expectations [Mann-Whitney U=5063.500; P=0.002<0.05], I ask myself what causes my successes and failures [Mann-Whitney U=3844.500; P=0.00<0.05], I ask myself if I have achieved the goals I set [Mann-Whitney U=3067.000; P=0.000<0.05], when I finish an assignment, I check my mistakes [Mann-Whitney U=4869.000; P=0.001<0.05], I ask myself if I am up to date with my work and studies [Mann-Whitney U=3965.500; P=0.000<0.05], I make sure I understand what I am studying [Mann-Whitney U=2751.00; P=0.000<0.05], I try to define a strategy before I start my homework or study [Mann-Whitney U=3586.00; P=0.000<0.05], I am committed to the tasks in my lessons [Mann-Whitney U=3894.00; P=0.000<0.05], I mentally organise different information from the course in an order that makes sense to me [Mann-Whitney U=2701.00; P=0.000<0.05], I mentally connect the new knowledge I am learning with the knowledge I already have [Mann-Whitney U=3251.500; P=0.000<0.05], if I have difficulty with an assignment, I persevere until I understand it [Mann-Whitney U=4467.500; P=0.000<0.05], I learn certain rules by heart by repeating them several times [Mann-Whitney=3923.500; P=0.000<0.05], I spend more time on lessons and homework [Mann-Whitney U=4537.500; P=0.000<0.05], I am so involved in my lessons that I forget everything else around me

[Mann-Whitney U=3756.500; P=0.000<0.05], I want to learn as much as I can in class [Mann-Whitney U=4708.000; P=0.000<0.05], when I am in class I only pretend to work [Mann-Whitney U=3063.500; P=0.000<0.05].

Items	Size of the Group	Ν	Mean	Sum of Ranks	Mann-Whitney U	Р
I talk to other students about the course	large group	140	131.85	18459.50	4570.500	0.00
	small group	94	96.12	9035.50		
	Total	234				
I give explanations and help to other students to	large group	140	134.35	18809.00	4221.00	0.00
understand the course	small group	94	92.40	8686.00		
	Total	234				
I feel that my point of view is taken into consideration by	large group	140	132.36	18530.00	4500.00	0.00
other students	small group	94	95.37	8965.00		
	Total	234				
I feel connected to the group of students in the course	large group	140	130.82	18315.00	4715.00	0.00
	small group	94	97.66	9180.00		
	Total	234				
I interact with and receive feedback from my teachers	large group	140	125.59	17582.00	5448.00	0.00
	small group	94	105.46	9913.00		
	Total	234				
I ask teachers for explanations about the course and assessment	large group	140	131.93	18470.00	4560.00	0.00
	small group	94	96.01	9025.00		
	Total	234				
I discuss the course content with my teachers after class	large group	140	139.51	19531.50	3498.500	0.00
	small group	94	84.72	7963.50		
	Total	234				
I look forward to participating in a group	large group	140	132.75	18585.00	4445.00	0.00
discussion in class	small group	94	94.79	8910.00		
	Total	234				
I dare to ask questions in front of the group	large group	140	126.63	17728.00	5302.00	0.009
	small group	94	103.90	9767.00		
	Total	234				
I raise my hand to answer questions in class	large group	140	125.17	17524.00	5506.00	0.00
	small group	94	106.07	9971.00		
	Total	234				
I feel excited about class work	large group	140	127.68	17875.00	5155.000	0.004
	small group	94	102.34	9620.00		
	Total	234				

Table 3. Behavioral engagement test

The Mann-Whitney U Test was used to test the effect of group size on behavioral engagement. According to the data shown in Table 2, the size of the group had a significant impact on behavioral engagement in the following items: I talk to other students about the course [Mann-Whitney U=4570.500; P=0.000<0.05], I give explanations and help to other students to understand the course [Mann-Whitney U=4221.00; P=0.000<0.05], I feel that my point of view is taken into consideration by other students [Mann-Whitney U=4500.00; P=0.000<0.05], I feel connected to the group of students in the course [Mann-Whitney U=4715.00; P=0.000<0.05], I interact with and receive feedback from my teachers [Mann-Whitney U=5448.00; P=0.000<0.05], I ask teachers for explanations about the course and assessment [Mann-Whitney U=4560,00; P=0.000<0.05], I discuss the course content with my teachers after the course [Mann-Whitney U=3498.500; P=0.000<0.05], I look forward to participating in a group discussion in class [U de Mann-Whitney=4445.00; P=0.000<0.05], I dare to ask questions in front of the group [Mann-Whitney=5302.00; P=0.009<0.05], I raise my hand to answer questions in class [Mann-Whitney U=5506,00; P=0.000<0.05], I feel excited about class work [Mann-Whitney U=5155,000; P=0.004<0.05].

7 DISCUSSION

This research aims to investigate the influence of class size on students' cognitive and behavioral engagement in a university context. The previously mentioned results of this study in Table 1 (items to test cognitive engagement) and Table 2 (items to test behavioral engagement), showed that the P-value is less than 0.001 for the majority of the items and less than α =0.05 for the other items. This proves that the results were highly significant and that the two hypotheses stated in Section 4 are confirmed and that there is an influence of large-group teaching on the cognitive and behavioral commitments of university students. This confirms what several authors have said about the concepts of class size (large group/small group), cognitive engagement, and behavioral engagement. More than that, the benefit of the large group is on the list of motives influencing students' cognitive and behavioral engagement in a university context. Based on a review of a dozen papers on the influence of large groups on learning, Cuseo [43] finds that the "massification" of students requires teachers to adopt the lecture as a teaching strategy. This teaching practice has become widespread and dominant in large groups of students, leading to cognitive passivity, little or no interaction with the teacher and peers, and a lack of feedback on learning, resulting in lower success rates. Furthermore, large-group teaching leads to surface learning and does not engage students in their studies, which is confirmed by the present study [44]. Most importantly, other studies [43], [45] have found that "large class teaching reduces student motivation as well as the development of cognitive skills in the classroom," which supports our findings.

Behavioral engagement is one of the easiest facets of engagement to observe and measure and includes compliance with academic requirements and participation in aspects of school life. For others, this dimension manifests itself more in behavior towards the social environment, i.e., relationships with peers as well as with teachers [41], and as our study shows in Table 2, we found that $P<\alpha=0.05$ for all items measuring behavioral engagement, Therefore, it is strongly evident that class size has a considerable influence on students' behavioral engagement and that students in the small group engage behaviorally in their learning in contrast to those in the large group.

Other researchers [46] consider that the teacher-student relationship and interaction remain a primary cause of student behavioral engagement. In the same sense, Klem and Connell [47] write that the student engages in his schooling when he feels supported by the teacher. As noted, behavioral engagement is defined in the literature in terms of participation, effort, attention, persistence, positive behavior and absence of disruptive behavior. According to the results of our research, there is a behavioral engagement on the part of the student, designated by their participative and interactional behavior with teachers and peers in small classes but not in large ones, which confirms our hypothesis.

8 CONCLUSION

In this research, we used a quantitative study to highlight the relationship between the size of the teaching group and students' behavioral and cognitive engagement after conducting an exploratory validation of various scales in our questionnaire. Specifically, we tested the influence of group size on cognitive and behavioral engagement. Our main results showed that there is an influence of group size on cognitive and behavioral engagement of university students and that students in the small group are more behaviorally and cognitively engaged in their learning than those in the large group.

Other studies have addressed the topic of student engagement in large groups and have come to conclusions similar to our results, pointing out that the risk of this teaching modality is that the student remains too passive and only superficially engaged in cognitive activities [49].

Based on the results obtained in this study, we are able to make a judgment on the question of this research, which was "What is the influence of class size on the cognitive and behavioral engagement of FSBM students?" The answer is that teaching in a large class size disengages students and makes them more passive and only superficially engaged in cognitive activities.

9 METHODOLOGICAL STRENGTHS AND LIMITATIONS OF THE RESEARCH

The strong point of this study is that it can help teachers to determine one of the causes of disengagement of their students in order to seek solutions to overcome this problem and limit its consequences on the students' performance.

As a limitation of this study, we can mention that the generalization of the results of this study is not really valid for all Moroccan faculties; it is mainly the students of the Faculty of Sciences Ben M'Sick who were questioned. Therefore we cannot project these results one hundred percent on the other faculties.

10 RECOMMENDATIONS AND FUTURE RESEARCH

The results of our research lead us to suggest a few avenues and recommendations for engaging students and making them key players in their learning in a large group context. It would be advisable for the teacher to:

- Present the objectives at the beginning of each class session to allow the student to be situated in the course and to anticipate the content;
- Include questions in lecture presentations to prompt students to reflect, validate their understanding, and remain attentive;
- Energize his/her lecture by alternating different teaching strategies;

As a first idea for future research related to this study, it might be interesting to train teachers to master facilitation techniques in large classes. Also, the integration of information and communication technologies for education (ICTE) in teaching and assessment may contribute to the increase of student engagement in large groups, which will be the subject of our next academic research.

11 REFERENCES

- C. C. Bonwell and J. A. Eison, "Active Learning: Creating Excitement in the Classroom," Washington, 1991. Accessed: Sep. 06, 2022. [Online]. Available: <u>https://files.eric.ed.gov/</u>fulltext/ED336049.pdf
- [2] van Doan Bach Khanh, "Quels motifs amènent des professeurs d'université à mettre en place des pratiques pédagogiques non magistrales dans le contexte de l'enseignement à de grands groupes?" Montreal University, 2021.
- [3] Madana. Nomaye, Pédagogie des grands groupes et éducation primaire universelle : Afrique subsaharienne. L'Harmattan, 2006.
- [4] E. Lavoie and N. Monney, "Ève-Marie Lavoie et Nicole Monney," Quebec, 2017.
- [5] M. Paoli, Introduction_a_Les_Satires_de_lArioste_2. Grenoble: ELLUG, 2003.
- [6] C. Mulryan-Kyne, "Teaching large classes at college and university level: Challenges and opportunities," Teaching in Higher Education, vol. 15, no. 2, pp. 175–185, 2010, <u>https://</u> doi.org/10.1080/13562511003620001
- [7] Pa.-A. Bernatchez and R. Weiss-Lambrou, "CEFES2003_Enseigner-à-de-grands-groupesun-défi-à-relever article 7," 2003.
- [8] J. Baker and H. Westrup, "Essential Speaking Skills A Handbook for English Language Teachers. London Continuum. – References – Scientific Research Publishing," 2003, <u>https://www.scirp.org/(S(351jmbntvnsjt1aadkposzje))/reference/ReferencesPapers.aspx?</u> <u>ReferenceID=1738707</u> (accessed Aug. 22, 2022), https://doi.org/10.5040/9781350933958
- [9] J. Biggs and C. Tang, "Teaching for Quality Learning at University Fourth Edition the Society for Research into Higher Education," 2011.
- [10] D. Ngamassu, "Problématique des grands groupes et didactique du français au Cameroun," Corela, no. 3–1, Jul. 2005, https://doi.org/10.4000/corela.503
- [11] J. S. Fallu and M. Janosz, "La qualité des relations élève-enseignants à l'adolescence: Un facteur de protection de l'échec scolaire," Revue de psychoéducation et d'orientation, vol. 32, no. 1, pp. 7–29, 2003.
- [12] D. Bédard, C. Lison, D. Dalle, D. Côté, and N. Boutin, "Problem-Based and Project-Based Learning in Engineering and Medicine: Determinants of Students' Engagement and Persistance," Interdisciplinary Journal of Problem-Based Learning, vol. 6, no. 2, 2012, https://doi.org/10.7771/1541-5015.1355
- [13] S. Parent, "De la motivation à l'engagement : un processus multidimensionnel lié à la réussite de vos étudiants," 2014, Accessed: Aug. 22, 2022. [Online]. Available: <u>https://</u> eduq.info/xmlui/handle/11515/34326

- [14] Connell and James P., "Context, Self, and Action: A Motivational Analysis of Self-System Processes across the Life Span. – PsycNET," 1990, <u>https://psycnet.apa.org/</u> record/1991-97339-003 (accessed Aug. 22, 2022).
- [15] A. Chapman, "Conceptual Awareness through Categorizing: Using ICT to get Year 13 Reading," Teaching History, vol. 111, pp. 38–43, 2003.
- [16] J. A. Fredricks, P. C. Blumenfeld, and A. H. Paris, "School Engagement: Potential of the Concept, State of the Evidence", vol. 74, no. 1, pp. 59–109, 2016, <u>https://doi.org/10.3102/00346543074001059</u>
- [17] E. A. Skinner and M. J. Belmont, "Motivation in the Classroom: Reciprocal Effects of Teacher Behavior and Student Engagement Across the School Year," J Educ Psychol, vol. 85, no. 4, pp. 571–581, 1993, <u>https://doi.org/10.1037/0022-0663.85.4.571</u>
- [18] L. Gerard and A. A. Rubio, "Sources d'influence de l'engagement des étudiants dans un dispositif de classe inversée à l'université : le cas de PedagInnov," <u>http://journals.</u> openedition.org/ripes, vol. 36, no. 36(1), 2020, https://doi.org/10.4000/ripes.2212
- [19] Richard Pregent, Huguette Bernard, Anastassis Koza, Enseigner A L'universite Dans Une Approche-Programme (Chapitre). Presses Internationales P, 2011.
- [20] A. Boulet and L. Savoie-Zajc, "Les stratégies d'apprentissage à l'université (Vol. 6)," 2011, https://doi.org/10.1353/book16220
- [21] Martin Nystrand and Adam Gamoran, "Instructional Discourse, Student Engagement, and Literature Achievement on JSTOR," 1991, <u>https://www.jstor.org/stable/40171413</u> (accessed Aug. 22, 2022).
- [22] D. Willis, "Academic Involvement at University," Higher Education, vol. 25, no. 2, pp. 133–150, 1993, https://doi.org/10.1007/BF01384745
- [23] C. Hockings, "Reaching the Students that Student-Centred Learning Cannot Reach," Br Educ Res J, vol. 35, no. 1, pp. 83–98, 2009, https://doi.org/10.1080/01411920802041640
- [24] C. Hockings, S. Cooke, H. Yamashita, S. McGinty, and M. Bowl, "Switched Off? A Study of Disengagement among Computing Students at Two Universities," Res Pap Educ, vol. 23, no. 2, pp. 191–201, 2008, https://doi.org/10.1080/02671520802048729
- [25] H. Ibrahim Holi Ali and A. Ali Saleh Al Ajmi, "Towards Quality Assessment in an EFL Programme," English Language Teaching, vol. 6, no. 10, pp. 132–148, 2013, <u>https://doi.org/10.5539/elt.v6n10p132</u>
- [26] B. A. Greene and R. B. Miller, "Influences on Achievement: Goals, Perceived Ability, and Cognitive Engagement," Contemp Educ Psychol, vol. 21, no. 2, pp. 181–192, 1996, <u>https://</u> doi.org/10.1006/ceps.1996.0015
- [27] B. A. Greene, "Measuring Cognitive Engagement with Self-Report Scales: Reflections from Over 20 Years of Research," vol. 50, no. 1, pp. 14–30, 2015, <u>https://doi.org/10.1080/</u> 00461520.2014.989230
- [28] M. Baeten, E. Kyndt, K. Struyven, and F. Dochy, "Using Student-Centred Learning Environments to Stimulate Deep Approaches to Learning: Factors Encouraging or Discouraging their Effectiveness," Educational Research Review, vol. 5, no. 3. pp. 243–260, 2010, https://doi.org/10.1016/j.edurev.2010.06.001
- [29] D. L. Dinsmore and P. A. Alexander, "A Critical Discussion of Deep and Surface Processing: What It Means, How It Is Measured, the Role of Context, and Model Specification," Educational Psychology Review, vol. 24, no. 4. pp. 499–567, 2012, <u>https://doi.org/10.1007/</u> s10648-012-9198-7
- [30] Leduc, "L'engagement cognitif d'étudiants du postsecondaire," 2017.
- [31] E. Ahmed and E.-S. Sharaf, "Utilisation de l'apprentissage expérientiel pour développer quelques compétences de la lecture active en français et l'engagement cognitif chez les étudiants du cycle secondaire," 2021.

- [32] E. Bernet, T. Karsenti, and N. Roy, "Mesure de l'engagement scolaire. Engagement scolaire en milieu défavorisés : traduction et validation exploratoire d'une échelle de mesure.," Educational Journal of the University of Patras UNESCO Chair, vol. 0, no. 0, pp. 2241–9152, Jul. 2014,
- [33] R. P. Pintrich and B. Schrauben, "Student Perceptions in the Classroom Google Books," 2009, https://books.google.co.ma/books?hl=en&dr=&id=oPnlqsTU8lEC&oi=fnd&pg=PA149& dq=Pintrich+et+Schrauben+(1992)&ots=wHV8zL5Fof&sig=G_heQdkXTnSC7FEvQbJAji-9n-4&redir_esc=y#v=onepage&q&f=false (accessed Aug. 22, 2022).
- [34] L. Corno and E. B. Mandinach, "The Role of Cognitive Engagement in Classroom Learning and Motivation," vol. 18, no. 2, pp. 88–108, 2009, <u>https://doi.</u> org/10.1080/00461528309529266
- [35] G. Heilporn, S. Lakhal, and M. Bélisle, "An Examination of Teachers' Strategies to Foster Student Engagement in Blended Learning in Higher Education", <u>https://doi.org/10.1186/</u> s41239-021-00260-3
- [36] I. Archambault, "Archambault_Isabelle_2006_these 2," 2006.
- [37] S. R. Jimerson, E. Campos, and J. L. Greif, "Toward an Understanding of Definitions and Measures of School Engagement and Related Terms," The California School Psychologist, vol. 8, no. 1, pp. 7–27, 2003, https://doi.org/10.1007/BF03340893
- [38] T. B. Murdock, "The Social Context of Risk: Status and Motivational Predictors of Alienation in Middle School," J Educ Psychol, vol. 91, no. 1, pp. 62–75, 1999, <u>https://doi.org/10.1037/0022-0663.91.1.62</u>
- [39] V. E. Lee and D. T. Burkam, "Dropping Out of High School: The Role of School Organization and Structure," Am Educ Res J, vol. 40, no. 2, pp. 353–393, 2003, <u>https://doi.org/10.3102/00028312040002353</u>
- [40] F. C. Worrell and R. L. Hale, "The Relationship of Hope in the Future and Perceived School Climate to School Completion," 2001, https://doi.org/10.1521/scpq.16.4.370.19896
- [41] S. Parent, "(PDF) De la motivation à l'engagement : un processus multidimensionnel lié à la réussite de vos étudiants." <u>https://www.researchgate.net/publication/279884654_De_</u> <u>la_motivation_a_l'engagement_un_processus_multidimensionnel_lie_a_la_reussite_de_</u> vos_etudiants (accessed Sep. 03, 2022).
- [42] A. Brault-Labbé and L. Dubé, "Engagement scolaire, bien-être personnel et autodétermination chez des étudiants à l'université," Canadian Journal of Behavioural Science, vol. 42, no. 2, pp. 80–92, 2010, https://doi.org/10.1037/a0017385
- [43] J. Cuseo, "The Empirical Case Against Large Class Size: Adverse Effects on the Teaching, Learning, and Retention of First-Year Students," 2007.
- [44] M. Svinicki and W. J. Mckeachie, "McKechnie's," 2011.
- [45] A. Kerr, "Teaching and Learning in Large Classes at Ontario Universities: An Exploratory Study" 2011. [Online], <u>https://heqco.ca/pub/teaching-and-learning-in-large-</u>classes-at-ontario-universities-an-exploratory-study/
- [46] M. T. Geier, "Students' Expectations and Students' Satisfaction: The Mediating Role of Excellent Teacher Behaviors," Teaching of Psychology, vol. 48, no. 1, pp. 9–17, 2021, https://doi.org/10.1177/0098628320959923
- [47] A. M. Klem and J. P. Connell, "Relationships Matter: Linking Teacher Support to Student Engagement and Achievement," Journal of School Health, vol. 74, no. 7, pp. 262–273, 2004, https://doi.org/10.1111/j.1746-1561.2004.tb08283.x
- [48] L. O. Dah, "Que peut-on faire aujourd'hui dans les classes à gros effectifs?," Revue pédagogique ATTALIM, no. 29, 2002.
- [49] D. Vanpee, V. Godin, and M. Lebrun, "Améliorer l'enseignement en grands groupes à la lumière de quelques principes de pédagogie active," Pédagogie médicale, vol. 9, no. 1, pp. 32–41, 2008.

12 AUTHORS

Laaziz Youssef is a PhD student in the Laboratory of Physical Chemistry of Materials at Faculty of Sciences Ben M'Sick (LCPM), Hassan II University of Casablanca, Casablanca, Morocco. He is a researcher in the field of education and training; he is also a pedagogical inspector of primary education at the Ministry of National Education, Preschool and Sports (email: youssef.laaziz-etu@etu.univh2c.ma).

Ghizlane Chemsi has a PhD in Educational Technology. She is a professor at Faculty of Sciences Ben M'Sick, Hassan II University of Casablanca, Casablanca, Morocco. She operates in several fields of educational sciences, including educational technologies and assessment and engineering of assessment. She is a member of the Observatory of Research in Didactics and University Pedagogy (ORDIPU), the Association for the Development of Evaluation Methodologies in Education (ADMEE)-Morocco, and the Multidisciplinary Laboratory in Sciences and Information Communication and Education Technology (LAPSTICE) (email: g.chemsi@gmail.com).

Mohamed Radid has a PhD in Physical Chemistry. He is currently the Vice Dean of the Faculty of Sciences Ben M'Sick, Hassan II University of Casablanca, Casablanca, Morocco, where he has been since 2014. He is a member of the Observatory of Research in Didactics and University Pedagogy (ORDIPU) and member Board of Directors of Association for the development of Evaluation Methodologies in Education (ADMEE)-Europe. He is an expert in the fields of teaching and research on educational and technologies assessment, engineering of assessment, chemistry didactics, and university pedagogy (email: m.radid@gmail.com).